N & 0l & AF & F Al A

S E N
ot ENole XY (BHAES/AH)
S 2l (=ZHL) (chel: &)
- _ _ NUE &
SN EB . SR(BH) - MRAY - BES 0l &k 24 G DB
2t 5,073,199 4,574,420 498,779
= 500,000
Jl 3,050,000
= 25,000
= 1,498,199
gNote BT H(BABES/AH) 5,073,199 4,574,420 498,779
= 500,000
Jl 3,050,000
= 25,000
= 1,498,199
LEAZTH 2el(=EMe) 14,440 14,440 0
QASUN el (EMLSESIA) 14,440 14,440 0
201 Let2g| 1,960 1,960 0
01 AtE22|Hl 1,960 1,960 0
OLGEXTA € LEEEHM =& S20HAHI 7,000 *4H»70 1,960
202 O4Hl 12,480 12,480 0
01 =W 12,480 12,480 0
OZUONH(QEAZMULSEHASTHFA) 20,0003 x4 F+10+ 123 9,600
OZH(LSSMATY L RHTT) 160,000& *3H «63] 2,880
A JI=AE X & 29 (&) 5,058,759 4,559,980 498,779
= 500,000
Jl 3,050,000
& 25,000
= 1,483,759
S4Ha XMelAlg 23 1,049,704 840,940 208,764
| 492,000
= 557,704
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Sl B JIEAM X L SY(THA) (ol @2
- _ — NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB

= 38,000

401 AIZHIL 2O 80,864 0 80,864
| 50,000
2 30,864

01 Al 80,000 0 80,000
OJIZA 80,000
—EMHS 2EHAF AE2S 80,000,002 80,000
| 50,000
2 30,000

03 Al&=THHI 864 0 864
OJIZAE 864
—EMH S 2EHAY AEES 80,000,000 *1.08/ 100 864

402 PIZERHEZOIH 450,000 510,000 60,000
o 262,000
2 188,000

02 ©I2FCHEH ARl 450,000 510,000 60,000
OJIZ A 450,000
—EMHA 2RHAL SRy 450,000, 00024 *1H £ 450,000
| 262,000
2 188,000

B4 MelAlse 29 1,332,960 794,800 533, 160
] 435,000
2 897,960

201 L2y 139,560 79,800 59,760
| 40,000
2 99,560

2 Tz 139,560 79,800 59,760
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—ot=ZZLHeE ALE2 22 200,000,000 *10H A 200,000
) 50,000
= 150,000
—0tSat=5 AIEE 2t2l(380HA) 61,000,000& 61,000
p) 8,000
= 53,000

402 QI2HXHE=01M 847,400 555,000 292,400
Jl 283,000
= 564,400

02 2I2HCHEH AL HI 847,400 555,000 292,400
OJl=AE 847,400
—ol=SZ Xl d 22t &2l 665,000,000& 665,000
P 280,000
= 385,000
—0tSot=5 Q2tIE2teld] 400,000 *3801 2+ 128 182,400
Jl 3,000
= 179,400

3 JI=AE EX 2,050,420 2,924,240 A873,820
p) 2,048,000
= 2,420

401 AIEHIZ 20 338,420 453,240 A 114,820
p) 336,000
= 2,420

01 Al&HI 336,000 450,000 A 114,000
OJ12 AL 336,000
—EXF 0tSot+=E XA 336,000,000 * 14! 336,000
p) 336,000

03 A&20HYI 2,420 3,240 A 820




SN SAEEDL
I o BMNolE BRAELE(BEES/HH)
el JI=AE X ¥ 2E(=2Md) el dH
SA - EB - SR(SH) - NRAY - BES s ol e =5
OFEXNF OtSot=T XA 336,000,000 %0.72/100 2,420
403 XXM SAHE0IH 1,712,000 2,471,000 A759,000
P 1,712,000
02 SJ/2S0ICHeCHe At H 1,712,000 2,471,000 A759,000
OJ12 AL 1,712,000
—HAS St AE SHSAS (500 1,712,000,000& 1,712,000
P 1,712,000
IIEEES3HelAE £X 75,675 0 75,675
P 75,000
= 675
401 AIEHIZ 20 75,675 0 75,675
Jl 75,000
= 675
01 Al&HI 75,000 0 75,000
OJl= AL 75,000
—SMHs 2eXadAIE WAL 75,000,000 14 75,000
p) 75,000
03 AlZR04Hl 675 0 675
OJ12 At 675
—SMHs 2aXdAIE HEAL 75,000,000&*0.90/100 675
IE2L BDHANE HX(2.TH) 550,000 0 550,000
= 500,000
S 25,000
= 25,000
401 AlHIL 2] 550,000 0 550,000
= 500,000
= 25,000
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cHel: IZAE 81 2 2Y(LFIHA) CHl: &)
- _ NUE &
SH - EB - S(BH) - MBAY - BES arey Siatel ==ET
= 25,000
01 Al&HI 546,535 546,535
O=ZHIEXZAE 546,535
—S¢tH = 2 MelAlE HE A 546,535,000& * 14! 546,535
= 500,000
< 25,000
i 21,535
03 AlZ=R0iHl 3,465 3,465
OF&Ha el Ald &AL 550,000, 000& *0.63% 3,465




